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d(csc x)=—csc x cot xdx

d(a*)=a*In adx

d(e¥)=e*dx




E_E SUSHS

F—1T BB

FEAN:
1

| =
(Inxy =1
s
(arcsinx)' = 1
V1—x2
(arccosx)' =— 1
Vv1—-x2
1
t —
(arctan x) =
: 1
tx)'=—
(arccotx) -

W as:

d(log, x)=

dx

xlna

d(lnx)zldx
7

d(arcsinx)=

! dx
V1—x2

d(arccosx)=— 11 - dx
—X

dx

d(arctan x)= ——
X

dx

d(arccotx)=— T
b5

/

\P



£-8 SHSHS £ SENES

RN ER

KFZEN 14y sk
(utv)'=u't' d(uxv)=duxdv
(Cu)'=Cu'’ d(Cu)=Cdu

d(u-v)=vdu+udv
Yus/) —zltl\)/—-l—y\)/( 40) d(z)szv_fdvdx(v;&O)
2

Y e e b |




E—_E SBSWNS F—1T BB

f5l2 3Ky = x2arctanxBY{{ 57

#: dy=d (x2 arctan x)

= arctan xd (x2 )+ x’d (arctan x)

2
X

= 2xarctan xdx + > dx
1+ x

11



P ERFCCAASOE KR TS, ATRERREN —LAE. METHRIAREL, 1§
Ji: https://d.book118.com/448143044067006120



https://d.book118.com/448143044067006120

